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1 82 85 EH = EDZ BRI K&GL—>>4 2 1 20 1 1 22 1 1 20 2 1 20
2 59 8 B BSF) Sy Avhy LIIZR-Y 6 7 9 2 3 18 6 4 14 1 18
3 1 56| 75 M |EIE 8% NI F39h K&GL—>>4 8 5 12 6 5 14 3 3 16 10 4 14
4 55 16 & —BB THhEX 4F09 LIIZR=Y 4 3 16 30 2 20 5 2 18 3] 15 1
5 43| 79 Alexander Bagnall ULV A A K&GL—>>4 5 6 10 5 6 12 2 7 9 8 5 12
6 31| 77 AT —18 Ro+am HAkO K&GL—>>4 9 11 5 7 7 11| 11 11 5 6 6 10
7 2 25| 41 M |[Paz-hE T3z- #AJ3 HFRPHL—>1&LU 14| 16 1 4 4 16 7 17 1| 11 9 7
8 24 50 =k B N=FH 7435 BHEEIEIA 11 8 8 10 8 8 9/ 8 8
9 3 23 7 M ZZH X054 Y24 hekO A=JINAR-Y 12| 17 1 7 10 6 5 3 16
10 21 32 [ASTRIIVIS IVIL5 DarA JyR K% 14 2 0 9/ 6 10 4 7 9
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20 10 8| 56 M |&RT B T4 Jov A-ONE 13 12 4 o 18 13 3| 19| DNF 1
21 8 92 EH FHE RUA4 7=k LIIZR=Y 23 22 1 14 12 6 0| 25 20 1
22 8| 28 BEE A I3 FAER HFRPAL—4&LL 22 21 1| 11 13 5 16 16 1| 23 18 1
23 7 86 hE = FTHEX hd BHEEIEI 0 0 8 9 7 0
24 7 78 71 EH YT 99t K&GL—>>4 16| 18 1 0| 13| 14 2( 16 12 4
25 2| 21 “H Bz JAYA PRI+ LiL—32 8- 19/ 19 1 0 0| 17 DNF 1
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